CALCULUS
Derivatives of logarithmic functions

OLD




. Differentiate f(z) = In(|4z2 4 2z + 3

. Differentiate z = logyo(|42? + 2z + 3
. Differentiate g(x) = 1 4 [cos(In x)].

. Differentiate h(z) = /"7,

. Differentiate B(x) = In (7 4 /e).

. Differentiate H(q) = ¥/Inq.

. Differentiate

—m( (z+ 4)%(x - 3)° )
YT\ e85 (43 — 22— 1)9|)




., 0390-8.Differentiate
F(s) = 1In (‘283628 + s2e25 — 5ge?S 4 Te2S

).

0390-9.Differentiate u = 4¢3 1091 (\7/%)

oLD

0390-10.Let f(z) = [gcﬂ [In(3z + 1)].
Find f(z) and f"(x).




